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Lee, Saeng-Keun. (2014). On the Pragmatic Interpretations of English Bare Plurals.
The Linguistic Association of Korea Journal, 22(3), 111-130. Bare plurals in English can
be interpreted either exclusively or inclusively. Under the exclusive interpretation,
they simply refer to ‘more than one’, excluding atoms from their reference domain.
Under the inclusive interpretation, they are often described as referring to ‘one or
more’, allowing both atom and sum references. The previous semantic analyses
explain the interpretation of bare plurals based on monotonicity direction: while
upward monotone contexts tend to select exclusive interpretations, downward
monotone ones, inclusive interpretations. But even in contexts in which inclusive
interpretations are permitted, exclusive interpretations are preferred in case sum
values are among the intended referents. This suggests that monotonicity, though
involved, is not a decisive factor in the plural interpretation. This paper presents
evidence that the inclusive interpretations cannot be causally related to downward
monotone contexts, and demonstrates that the choice between the two
interpretations of the plurals is decided by pragmatic factors, such as real world
knowledge and contextual relevance, rather than semantic factors.

FAo|(Key Words): A E<(bare plurals), &3 3|4(inclusive reading), &ZA
(monotonicity), Al A2 (world knowledge), &3HE™ (context of utterance),
3}-8-E4(pragmatic)

1. A8

kAl Fol A= Fol WA F(number)7t 7 t2H AA, 5 ¥ (one)E A
AlBhE Ber(singular) 9}t & o (more than one)< A 8= E(plural) 2 T4 =
THQuirk et al., 1985: 297)= AETH7/FEe Aol ST Zolth. Z#u Krifka
(1989) olg H9| W2 & TAAA B4E ojdol A4PH 2R o B33 2o E
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e 74do] S71lt(Bale et al., 2011; Sauerland, 2003; Sauerland et al., 2005;
Spector, 2007; Zweig, 2009; ). 571 & ol ik ovdttal B o|EL v 2
7A5-olA AAZ ool gt AE (1)olM B5HEAE B HAE 235t sl e
2 Aetsi.

(1) a. If you have children, please raise your hand.
b. John didn’t visit relatives.
c. Do you have children?

(la)= 7 ¥ o4 ofol& 7ML Yl F 2
Ae FESIALE AHdelth (1b)+= Johno] & 01*04
g A& Rk = Azlo] "ok oA TaiA (1 )
AU ofet ofd AH & WESA| trhe vl

o] ofo] S ofe}l AlA|o] g ofolm AT Sl ofd AHE (1c)9 FEol
g 7Fs3 dige2 (2a)9} (2b) € o 2 4 dthes "M 44 & & th(Krifka, 1989).
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(2) a. Yes, I have one (child).
b. Yes, I have two (children).

[‘O

children} relatives9t %28 FAHAL B AK(Bare Plurals: %02 BPsZ F7))DE
23 (1) 22 dEel sk WU A die) o] =L B FEjao on)rt
T ol 2R FEITE ANde ARSI S s I ol (one or more) 9] SJvlE
M e FAES AARG. 222 BPs7E (1) 22 =9elA @ shud O]}‘Vgl
o & Zhethe FA e v E AlAsk, BPSﬂ Chg3E ofv] Fd= %@‘_E}— 7
Qltt. o] #HAoA BPsE EFshe S
€ 24ske H $8% 92< due Ae
o2 #dll o =& 2™olA BPs7t FY ‘= H’—‘jr% zh= 2ol
ohyel A% vx TN HHE}H ‘H/—‘—ig 2t &k gx P‘:”lMWE “sht o]y 9m,
4 & BPs9| ¥&4 sj49] £
A8k hete A E"L‘:}. CHA A BPso| 227
o

o
~
oz
o
A
AN
I
E
ﬁ

7 st Bz 2us s 4 3

Ho| B 81 Tz Bulolqu e Zlo] ofieh 48 Bz BuolqE Uehdths 5

A% ANGT SA) e A4 =3 18 BE BUoE dehks 4950 tke

1) FRYA BEAE @HDet) A2 offl Bhht 5 ARE AT G 827h YehtA g
BouE gt



20| SFTAL BoeAtl B2 oA | 113

zé% BPs®| Z#7 43} wjets] 4 3t Adelo] @A) BPs7F Ut 4
gz THolu 1% Tz T oluE Edi=rt AAHE Zlo] oz} Ak
(dlscourse context) = WA AR SAE AT 3 BPse
=l lolA 3884 afls ¥l Atk Ae Holil o] T 3
‘?_V\Eﬂ*}(smgular indefinites) 9} ¥IgHg EHAl(plural indefinites)2)9]
1 BPs7} o]E WA OHE 9] 9n] £A& Zhethe AE 2]l vt
e Qo

0?~ IS

~

ot mlo
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o
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o
o
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Ao g 5HL

2. TIH B2 34

i (3a)= (3b)2 YPIE Zt=Th F BP bankerst ‘T Wolde] 239 olgkz ¢
5zt Tgfste] go1e BPsoll i) AT e M @3 7HEE BPs7LE 0
% (more than one) B “HAE & (at least two)O|T &JP|E ZH=0hal W= Zlo|t}. o]
2¢k BPs9] &4-e & JlA(atom/individual) AAE TFsHA| Geths u|oA “H)

E}Y 314 (exclusive interpretation)©|g} &

(3) a. The President met with bankers on Friday.

b. The President met with more than one banker on Friday.

SHAITE BPs7F &3 (3a)oll A A H wiEbd 25t s H= AL otk BPs7l W2 0l
e HAES] R (sum/ group)® otz T AE AN F e A0l A=t
o2k AL 53] FoAAH Ts} ol 7123 ¢ AAE 7H dojEA A vehd
t}. o4 9 BPs7} skt o) (one or more), TN B3A ‘A% ¥ (at least one) & 3]A
B 75, e sidahs 2, 9 Al tig AAE 23T oujdlA ‘224 4
A (inclusive interpretation)©|2} F-Et}. BPsoll #3F 29| oJn| A+ (Bale et al,
2011; Farkas & de Swart, 2010; Sauerland, 2003; Sauerland et al,. 2005; Spector,
2007; Zweig, 2009)< 3t&F @2 3 (downward monotone context)¥ro] EZH 34
< TR R

@2 (monotonicity) ol 9& BPs] 314 =2J37] flsiAe A g2l tigt o
3|7} dasity dutdo s §heF v S 3 (sets) CEFEH FEH H(subsets) &9
FE0] 7Fsd T vk A v F92 1 o] 320 7hsd ZH o HFoHt. o

2) HIZY BARE some/several boysHd WA} E4 GStx A} AgtE BAE g I g
HAE a boyAE FEBAS AE WAE TETH
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Ao TR The (4)5h (5) 1o oA BiFo] B HERE SHF thx Bl

o 34 AeEe 4% dx oot

(4) John doesn’t eat a green vegetable.
= John doesn’t eat spinach.

(5) John often eats spinach.
= John often eats vegetables.

oJA] A M&Ro|A BP7} A 4L Zteths 248 AWEA).

(6) a. The President didn’'t meet with bankers on Friday.

b. The President didn’t meet with more than one banker on Friday.

(6a)E (6b)2] 9fP|Z SN2 Ptk BP bankers7t B4 2A(E oY )&
AR (Ba) ks 2] Y BP7} #4019 99 b e (6a)e tEF ol F ol
SPAe TUA Fte AL grjske Ao] ohye} ofd 23U whix] Adgit= A
ougith. oAl EelA tiEEo] F W o] PYL EE AR & 3 HYf 2PAx T
WA dgtths v R st webA Thef 1 tiEEe] 23 & Holgte whyithi
(6a)= AZlo] "tk o7 BATH 22 51% vx EloA BP7L 9 s)4S wAIA)
A dethe e B BPY o2’k 24 sj42 BP7F #AAMAL not BT F&
o9& 7HE o 2R

BPs7} HAEA shte] JHAIRE ofyzt & olde JHAEe Hatel tiajrs A
T Aths TS AASR= s 3 == (7) 3 22 "3k A4 RRE gld
.

(7) A: No students/critics/fans/uncles/fathers etc. came.

B: False. John did.

oHFE ¢k St (7A)9] Wtoll tha) Johno] $tHhal SEHHEAM 1 FAe AT 5
ATHE AP G ANAZ} students/critics/fans &2 XAt (denotation) 4ol E3}5]0]
AthE S YA

27 AYA[f-A) =3 51F &

N
=kl
=
(o
il
M
1%
i,
v
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(8) a. If you have children, raise your hand.

b. If you have more than one child, raise your hand.

(Ba)= (8b)9] P& ZHA =T (8a)= WHo] FolAH AA|o] & ofolrt Sl A
= AFREL £8 £ Zojt} o]AL if-AHo| == BP childrend &
A9 Hgde AAFTE AL BajE

T g2 seF gz 2ol Adsiale] d4de) Uehd BPE E27 ouE zhe=t),

ne
=
)
Az r
(o3
e
r
)
=

rl

e

(9) a. Everyone who has children, please raise your hand.
b. Every guest who brought presents left early.

T3S vehlls d A 4 Ak 23k (%)= BF o] Fo
= ArlE AES 259 £2 & Aot (%)= £l F A
S opet AR Ae stk AR ol Aol

2 42 o18ehs E U £9E A/ EToln (10)9] tistE duii

(10) Q: Did you see whales on your trip?
A: Yes, I saw (just) one.
B: #No, I saw (just) one.

gheF WK AAY o8 5 1 & viEE B 49 dE (10 o tH?‘S& W%EE (10B)=
Aetgoiy ou| Ao ulg- o)A AAA ol A tig (10A)°]t). (10B)7F
10yl thgk A2 tige s S-lthe AMS BP whales?} 57 vl o]*ohq yEEr) B
Th= 73k mpe] o] dke] ol -8she YHIE sjAE ootk AE BAErh (11)9 o
so} vlws] B,

~
A
\./

(11) Q: Did you see several whales on your trip?
A: #Yes, I saw (just) one.

B: No, I saw (just) one.

E2E AU oA gk W7t (11)0l2ke AES BUTHE U (11A)7F okd2) ofnt
(11B)& g Aotk & (11)2 BP thal HIZHE EFmAKseveral whales)E X33l
Atk A olelolE AR (10)% thEA Yok 286 @A (10)eA41%F BP] A Ao tf3)
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B S A
DRl 2 ANA -:Méol oHI2 2312 Bpviel 71 91
& HiZThL B % YL el
A2 $eE wxAel U BPsol BAS Avugith 0% Flo] Jo] BPs7}
A d BoAE e ShH S Hasts W 8
sah Al A4S A8 & % gt ol
2

(number neutral)©|2H=

Ji
o
ftl
=
oft
o
_‘&
C
_l
;
ruz
O
”r 4>

3. ©2Adol 9J3t Bps 349 £AIH

244 $g & BPs7t YehE 3¢ @24 WK (monotonicity direction)ol ]3]
BPs9| sj4jo] A dth= F80l thal =2tk 2¥ud o714 223 sjxe] s 24
oA dET ZE £, & BE 8t dx THAA & sl8H=A tel s A &
= 7 }Uoh ek a3A] gk 7910 lﬂi?ﬂ ¥ o(variation) & Zedh=71? o] HolA=
atF Tz 9ol BPso :-T-Jé’x—y 3H %"]7]‘“ e B2 s 23T A4S

BN
e
5
=
_>.:
b
Z |
o
2
:?*:
£
o
N
AN
o
e
» s
319‘
_\.L
rulo
F_
_@

3.1 8% B UM ETH oY

AR, (12)9 22 AA(attitude) FAFE T E4-L 4 thx Euo|x|7t BPso| £
2 40| aTHr

(12) a. Miles wants to meet a policeman.

b. Miles wants to meet policemen.

Carlson (1977)°] @=W A4 TAS ZIF A HdA driie
(transparent) 3143} E5H(opaque) A& EF Z= WA, BPsE BA EF
7H 4= 9lth. o]glste (12a)= Miles7} Hhut
U 7F od g Aoy b AR E T
MEt) oo W) BPE TSI e (12b)= ©A F HA AT 383k

lo
fru

lﬂ
H>
oﬂ 2
o
ot
Al
ol
ot
E\Lj
> O
%0
i
MR o o
s

3) ‘T THA & Zweig (2009)°14 BPs®] Yn|E r|aste B AHEE HE R 287 84, & sht ol
ojg ofn)9} Fofol2 ATt
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E4), Fd(modal) T T3 BPso| TEZ F4&

o)

&3tk

(13) a. You must consult relevant articles.
b. You should bring friends to the party.

el AHEE HARE Wﬂ oKk feilof] Q= HEE o] 3t AAF EAJo] PdTEo
A BPs2| Xe-g Ads}sit),
AA BPs7t A4 43tate] ool E3hE]A] ok AeF vz Fulo T EF o] 7153 A

$7b 9o,

(14) a. Every guest who brought presents left early. (=(9b))
b. Every guest who came to the party brought presents.
c. Every mother who came to the party brought her children with
her.

3l Tz BuQl (14a)9 28] A% T B9l (14b)= #9 ‘E ol olgh wigrd o
nE ket ofd & Edo] B4 shuel AES A Stk (14b)E AR AZshks A
o 29H A (14c)7F BP Sl &f-ZA0] AR F o=

BPs®] £EA FUFAE HEtH R sj4 5] dete Holn (140)= A B4
ofolit 7R gutexAt 1 ofolE TEld] Hesithe x2A g T + At
(Bale et al., 2011). ©|2|3t] 2742 BPso| AANE 2A4sh= vl 9F< Fthe FolA +
=T 77 3lT49)

A, ©J&E(dependent plurals) BPsv 43 ©x FHllglol| = wield B4 342
747 ¢k=tH(Partee 2004).

o
i)
ftl
2 r
)
Ho
>'_\1L
m}i

4) (14c)= EZ ol g ojwUrt & o9 olol& AL Slvke A S =3k o3 4E =&t
A FA o] ti3) A= Sauerland et al. (2005)%} Spector (
5) Tk dEAAME &fAe] BPY HE wWAsH: A& & 4 Utk

[}
o
=}
J
o o
il
PN

You're welcome to bring your children.

714 your children A7} H AL ofolg & A& REI e FfolH TEHOE ARH I )
= o)A &F4 WA (your children)7t BP(children)$} SV A 02 FU3A AHEE & e Ae

HojErh



18 | ojMz

(15) All the boys have read books.

2
Qo) UL Y T2 Boo] ZBA 49 3189 UF B
] R B Ejo] ohy7]

(e

ol

4

(15 2 29E 557h % 4 olde] A2 Yotk on)7} opfet AdSe] 47} (o

2) @ A9 A2 YA 24 o YA F olo] Tk oS ZErhad B,
ek @ Pagrzdols
a}

rp
Sl
o
rlo

=
2ol mgo) Bk REY 2o, oy B, o

<

a1 oz Foo)A BPs7} HlEr] 4]
FAEAAM BPs7F vig o2 sj4d 5

(16) I FAILED Algebra in High School - FAILED IT. . . .You have to do
a LOT of NOTHING to fail a class. I didn’t turn in assignments, 1
didn’t ask for help and that's why I got an F. (Grimm, 2013)

b

2 Aol Al (16)S FAE I didn't turn in assignments SHA7} ofE HAE A
=olA] T SW|E s ET. o 7§—°r A st AESATHE Azle] "ok a3y
16)& A7} shue] FAE A& Aol Alo] ofd 4= Ut} Yoz ywelAE
2] H A AES a7tk FA 3}‘% Az2e HAE 98 T e A & d$
gtk HAE AEsHA Gobr HAIFHE o] 78‘-?‘ Holx & o]} IAE AZEsHA &
ZAOZ Hof| 34T 4 gtk
(1
ok

.‘_.

6)°l4 BP= #AET T W 99 7%‘@@((4&1)9} Hlw). 18A] ggod 11 24

< & 3t JJrZﬂE Shs A|Es 735l Abd ¢ Sl o714 Bl 9 (W
) s F2 4o (22F) A4 —‘?~‘3i°ﬂ o3 2RH =P T2 TAZ TR
=4, Grimm (2013)2 o|FFo] dutx oz &3 thx Edo] opduT & Aol 1
A 24 AL 71RAH R AL oA AAITY) ofd A= AA|staLlEtE o714

ol
X
50
rlo o

m

mlo
1z

FENAAL Y=

6) oA, FY7E0| S B} ohfes A ()l ¥ 5 9 3 v
AR (i) vimste,

(i) The professor should interview students.
> The professor should interview students with red hair.
(ii) The professor didn’t interview students.

= The professor didn’t interview students with red hair.



F0% E O BAE JEEe] 2 4TS Futh Bt oH BASTE g o
2ol WEH 1412 $85H A9t Arks Aoltk old@ AL (17)9) AR-hg 4t
b

(17) Q: Do you have children?
A: Yes, one.

B: No, (only) one.

AT 17)°l tsl SEAZE & g ofolgt AL JHHA (17A)7F iFe 2 AP
Ttk o] Ae= x2F FMs = (17)0] oldd x&H ATk 2=
d NGAHH childrens F 3 o]iolgt
+ ety 2 At A

AR, Ao HAAY 8A0] FlRlA Y whe} BPY| A7 D2t £ Stk AR g4l
< A YETAA AHEEE BPE ‘E ol guHlE Z=Th o] A9 ‘No'ghe tige] 7]
e

o
=
e
S
N
—_
B
M

(18) Does a dog have tails?
= Do you think a dog has tails?

AE7A fele ot 92 THAE ety o] Thesta 4 Tz EHlA
24 )Xo 7hsstn, AAo] LY EHolA oE PAR= BPsE LR E dal o WA
Tk o] AL ot Tx 2o] 2o E d4 9] 580l %

A DE ook FA o)AE2 BPse] AAR 4L
Ul 3884 dyo] Izolgks S ANATH tha HdA o8 &4

b

-

[o

<<

4. BPs9| 3134 AH¥

o] AoM $-l= BPs7} BB ATE 7hHsd tiHEe] o gdlM AHgE A o flve
Z1& Holil BPs A9 AR 0] 3824 2913} #A= ool A2 d48E + Slvke

7) ool & gxIA ofdAE A7t stk F4% Sl Sauerland et al. (2005)=
5019 58o] 813 vz U] i AT HAFWHEAY o Ew 0|9} Bt X3 S B
e e &t

oz
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Helok

4.1. 28 Hg 1Y

TEel ol ﬂﬁoﬂﬁ kK rsw %:}v}e Aol F }
= ou)xoz wua ottt RSl WA shte] sk ol AE 2 o] Abo)y]

o]tk

(19) a. Does Sam have a Roman nose/#Roman noses? (Farkas, 2006)
b. Jack doesn’t have a father/#fathers. (Spector, 2007)

gk (19) A MAH A Al A2 (world knowledge) 7 # o] o]f2 BPs9|
& AAZF RS ANGHe2RY BEEH R HiAlEE BPso] A2 ofmHoR &
& oldsta agjste] sabs @de AdEstA ok

ojet thzz o= whef A AN} Al A 4ol Hkste] wiA|EH, ThAl el A 5}%%14
o2 Alokd AAe] o] BA APz FAFAITH (200914 AU 4 %ol B
7h Agstal g Al FARR 2] € ot

(20) a. Does Jack have eyes?
b. #Does Jack have an eye?

AA) Al o A4o] Agsol & 4ol £ /AT Arke AS Biah BT
A= BP7F A AAE A = 387 G2t (19)9 20)3te] o A+
T Qe olol e B UA| Aol Aol 2AZ. webd BPse] olejdt F o
22 g2 ofE 5% 7 glol F(number) 3149 824 At i
sloF & Aol

T S Wl BUH] YA R BASE Jo| o VIR 38 E
A7 B 950 ek AL AT AN Balel 7R AUt Y A9l olH
I IR G A B S ool A SIS T i el el

g 2 Ak

5 A 33 7L S ATE 5, 0ot ol ARl D5 FARE AT
AR T RS Shfs] YR AL 2AE AR A9, T A
shbe] E03E RS 2o) BAA AN oA 2 T

o
ol
)
>
rir
-
o,
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¢

Aol |78 71RA9 X Felo] £3A ot Telste] Selvh el Yetehe 8
270 del 7148 1 Qlay7t A4S AR QIb)AY BPE T JBTRS
AYER sl WA AN 4 Lo IH(EOIIS EUHS TPNIES 875 )
=l mAoR ofdsith. o471M BPY AHEE FAR 7oA HBlojde uehdth
(Spector, 2007).

(21) a. In France, every student who gets a high-school diploma can enter

a university.
b. #In France, every student who got high-school diplomas can enter

a university.

ool W AP A2jol HlFolngke ) AEA W e Ao Be FAT 7| of
Ao ARES S Aolehs Heolk. 0@ A 28] YA BolE 1) (22a)904
A9 Bpol Apgel e, A A ol 93 BE Ae B T 4L AL 9
Holtk, o] A5 B 1% AN G FHol WAL Teiste] 22b)lHE
Aol AHgol B Atk

(22) a. Do you have pictures from your wedding?
b. Do you have a picture of Sarah in your wallet?

(21)F (22)3H9] thx= Fel7t 2013l AR ol BARe] AN Lol JtkaL
a/dst=tf %A Frrke] Ajole] 7]QIRth BPso] AEl 4 HAF A AHHES
L78p7] w2l (22a)9lM = BP7F 3SR (22b)oll M= A3sHA] oA HaL, Ze]she]
Tr7h ARSET

o] 384 dddol WA Addo] %< € F e A BAFE EOE F
AZ (23)¢ € F Utk

(23) Do you have children?

ol (23)2 BPs9| EZF 3|49 EAlol tidh AAZA 7P A d4H ool
ol o]

((1o) #=x). 28y (23)9lA BP children< F #ol/delel= wWerd] 34 =3t 753t o]
23 AL s = Hlﬂﬁkg~ Q3 71 & ZAF AR AR AR oR o SHoli:
o] 7% o' A& SHEA7} ‘No, only one” 0.2 g 4 l=dl o]Z2 (23)ellA BP7}

46k AN 2 ASE ol Stk A02 oMo 48l olal T, Yo
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2 of| Aol Wrht B olol5¢ /AT Aol #atel o 71242l A= ¢
aelste] o) A% BPS) S By DR BEE LT BHI AZT £ 9)
o

ol Wl the ARAINE BEHA] Agol B Az

(24) Do you have a child on our baseball team?

(24)= s e YA wol & v FEOE Aol tigh A4l 7]%
ato] & uf off e 57 F Y otelEY = & Ml @ A=rt BEel7] bl
SrEAE B AsdEn

W] A% ol AAES] Aol WSS 484 BaEAt ddanke 2
o AR E BE dF 04 A U AR ololzel ol o Bl de
BP(childrer) 7} £ (23)°] 8% AFIAR, AT e FIHE o) a4 ol
= BP7} 2314 (25a)& RO o)t v (25b)= 24 O AdAgrh

(25) a. Do you have phones?
b. Do you have a phone?

YY) ARE] FUE S A ThE 2ol Qukael B4jol7] mEe o] 4

oz B TS AN 5% B Auucks Ay

%*d jo2 yejslojoRitke 21 U
Aole] 712 ANF

1=/

:I:‘,

o o Solgli= 75l BPs
BEPAE SR GUSE XS E e o

-ll'>' tlo

= (26)°A AlEdT

(26) a. Have you bought your Christmas presents already?
b. Have you bought a Christmas present for Aunt Sarah?

A7) Geo] AARE 273 BQob)IAE BERATE 22 Aeola A
Aol 2 WAl AN Yelol] RS 2731 Bo(6a) ol M BPS) HElo] Hzo)
o Al A F ol Rlo] EFHYEAS B vl U4 AY A2e BRE B
o mebd S B Rt BRI )R8 W3 AN 38EH0E Y 4 9
= ASolE BPs AHgo] Bl

el S BPs} 3 Bk BeeH EBH ol + 3P AL Zedt
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4.2, W3 29

A7 =99 d2olXe 3 - AA T e DA A A4o] derdoly B
golukel| thgk HA o] He& AAse d SEATh d2v WAE S Meo] = &
o / W2 context of utterance)oll 9J3] ZAE & U= AS A= <
o F Ago] &3}t o] PR AA ﬂﬂ oo G £ F dve AL HoFnh

(27) a. Do you have umbrellas?

b. Do you have an umbrella?

AT (27a)= oW 3ol A w3k o] wie} I o2 22k Zolnt IAE U=
= w7 Wd A AR (27a)8 LEHITE AREL Yes'BHal tiHEE A F

A& Rolth, A@So] St E olake] 94+ AR X1 e Ake Aol il
ol EWa JE g1 B ohlg (27a)7h BehEl FFAT) A S ZATH 5 )
Jake] $4ke Waw @ Aolgkw AlufalA] ] wEolt). wehd BP Akgo] HjAE T
259 A8 Q7b)7h AU olol wka) TblldlA F9UelA| (272)F LaHBL
Ji o8 BHYE glol Yes F thEE Solth. AREE A9 Sl £A5 o
AXE 7\ejske Aol Wkaoly] wlEolt, oleld Unka AZEe A7
W 3o 242 WO o) 5 ) ol vhe A B, o)dd vxd A%
2ol 7127 ould B0 wE Avsls o A7} 9T, Telsk] s Euw 2
34274 Ay} Westhe AL RejZT,

G @A (27)9] ARl sAEA e A%, ThA DelA Wshato 2HE] BP

o AgelRE & 4 gl A9E Bie] B8 W 4 Ak

r

o
o
ofl.
=2 >~
>
N

rlo Mo 2 2 ont )
=
_—)&‘
e
A
)
11‘.?L

rl
p

o

A

2

(28) a. Do you have an umbrella in your office?

b. Do you have umbrellas in your store?

(28a) A1 in your office’t TTBAL AHES, (28b)lA= in your store’t BPE AHE-

AESIes 88 Zot sAT o] 7 dojd Fdo] WS fﬂ*‘dﬂl = T 9
=l wroF etk (28)9] A9E A= del Eoo] #EEty B 4 gl

JEu @ Aavt 598 Ao BPse] AV gk £ }‘E} (28a)9} (29)E ™I
w3l Bak

O x
=
=
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(29) Do you have chairs in your office?

U1 AFEA 9191 FHA il«l Kl l e 1% % = AE (29)

] 3 7 0]
o8 olHg tish= oy UéOl 7] Sleire F 7H 1*0«1 A AAZE 7Ivdves A
3 Az BE 41 9= AgA 75k o) wake] Ao gk 3 - FAke] 7|t}
&l WA FeE ARTTHE 2l 1-1044

BN
ey
A
o
>
o2t
i
5
rok
oI
=3
[95)
o
bl
i)
2
%
X
o
> F
ol -
P,L
X
=)
=
S
—{1:1
:ﬁ
o
i)
k)
)
=
=
o
Y

(30) If John ate apples at lunch, he will be sick.

(30)°] E## 0.2 #4158 Bk Johno] Ao] A3} sLbg B9l o] & Zoley
of ojulg 2, Y2l AE AR A2 of d4e A olaEt. (30)) He}
%, % 313 S14L W} Johno] Holx ) olae] (BL) AE HTHA o} F Zoltk
olk

(31a)$} (31b) =3 BPs9| diAollA AR EHlo] FasHA A3tk Ae AAE
(Farkas & de Swart, 2010).

(31) a. Arghh, we have mice!
b. There are children in this house.

A7} AR S BN A G A€ 22 OlaS GRS
Qudoz e A4S HEH 4G Bx RIS E ol 9nlg 2

Glayy} s} A7) Al W) B2 3212 A Y @ olelds omm B
Q1A B3I JFoIA TEA 0T WAIW ATk (310)2) H3 AL A4l el
M ol 71l ol U2 Eel el EoIASE A8 B3 BRAUY BE ofo
7@ WA E oA & 5 QT Teistel LB Mo] APl 4T, 4T B

&2
rlr
o

oA 222 )42 AL BPsO] ANt 5 REE ofuld AolM 71 ks
3} g|2do] Ak 184 o 2N MA A A AN} BE A7) A1 Qs AR
FHE F A FH7] dEelt

8) =& W g Y A7t Tt Yes'Z R < Sletl o] = [ AN Z sjAE 7ol
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4.3. Hoby %

A7) BPsE A9 AA7} olE BAo] Agtalol Bk HA9

0
o
=
o)
=]

~
(e}
(e}
RS}
flo
v N

(32) a. This tractor has wheels.
b. This tractor has some wheels.

(32)ollA EE7} 2709 HIFE JHA 1 Yuta dd (32a) Ju|Hog o) AtaA|
(32b)= F&7Fs3slth EFE Y tis] &1 e AFEEClHE o (32a)F EFET} 471
HEE 7HA A gleka s Mgt EEZ) Eejr]ol AeskE™ 4709 HiF7E dofokdthe
AL 47] "Eolth. 32b)= 1A &tk o3 txs BPse AA ek A3
(suitability) % #&ste] AW 4= Qlrh. APPE o] oW 523} st Hojdrt
ollE (32a)0llA At HA L EEE k= Zlolx, dgste] sak= 1 EFEL

=2d 297} Ho ks As FEIHH® v o] ¢} HH%oﬂ et ?&) ghof sjato] &
Ho| HepAH ALY 71EE 2ot Zolgte v FEsjokgith dE 9, Wk EYY
o] vk} s Aot 7197] 8l HAe] A AATFs S vEFIE 2 e F (32a)F
& A5 A9 1 EFE7L A A EY HFE A1 9A] BHlEE e 87
3ttt

ojF3 AMNE AAFE & ThE o BAL

(33) a. John has playing cards.
b. John has Victorian playing cards.

ol & (33a) Johno] Folsh H] A 7h= o M E(RG 7h= @ 4, 5278)F 7
I Slthe 2% @53k ool wel (33b)e Johnol B4 2 9] ¥Egjo} 7kEE 7HA| 1
AR = Al B3k ¢ 9le Zlolth o] B John ohfE MEejo} 7HE 43
7hola A 8 Ao} ThEs 3 FAd] At

A F=HE AAl ofdll JIAEths §4& 2 dnt & A 1 AR 50
BHsH S5Eol vkl Azsta tistel A Talel st et

o

(34) A: This tractor has wheels.
B: So where do you want to go with it?
(35) A: John has playing cards.

B: Great, let’s start a game.
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(34A)°l 3t ¥H3- (34B)=
S 71 gvke 59 49 #EEnh (35B)« Johno| 71EAIY
g A ES] =S 7ML Slthe (35A)9 #5d o whgolth
(32a)9} (33a)7} Zh= AT FEEL (36)01H o] HaE & Stk o foE 2
27} ek

I EFE7E IS B 540 A9 933 3 AlES
< sk o A%

—

(36) a. This tractor doesn’t have wheels.
b. John doesn’t have playing cards.

BARRM] 36a)E 1 EHE7} AT 49 viFES AT A Grke AL on)d
Z10] obde}, ThAl TiAM 270 370 ZHA1AL Slts Zo] ozt ofd miF= A 7pA| 1
A Bk Ae vt A gaiA, B2 (34a)7t 2 Sl AR FEA A5
%L a8 EAA FAl A8 o]} FARSHA (36b)= Johno] 7H= 3 A EE 7|1
A STt ofde} ofWd FlEE TR A Btk ofnlE Zheth

oM 4%t BoolA BPso] AT AN thE AP FEs ) me get
4 5 93 3% B2 BAE 1 AT $F0) otk e HYsh e B8E
of Joolc. BPse] AYAS] BRI RHOZ A A4o] vl Hc,

4.4. oYY o5

BPs7} ol3l|sl7] 3 WHOR 7|5k & U2 A9+ 985 (dependent plural)
sfetolcide Mey, 1961). Sf 44 (372 YA ood schools A2 EHE %4 DP(frend)
oJojo] THHo] Sl BPE WE B M WATY AT AR AHEY ol 3
4g Zren

(37) a. All my friends attend good schools.
b. All my friends attend a good school.

(37a)%t 37b)= W 75 EF7H 44 A= BE shute] shatel] thd Aol A Abdo]
o} o] F &4 3| ¢ ]751 M3l 712384 Chomsky (1975)& &84 BPY| B4 &
A5 )7} PR 2(semantically vacuous) FO-5A GAIZ EATh TA] 2
A e EEST BPsE WA oR Weret 3U3 A8 ARl B4R HuAth 19
U of&F BPsY| E AAE AAZ onjof oW Fs ke HollA G HIgHY AL
o} ouH o8 FUA Tk Zweig (2009)= olHF rH FHS WA (overall) THF



A 27 (Multiplicity Condition) 2.2 2|33t} x%ﬂlﬂ O 22 o8] AN
ol AAH oz F 7 ool BEFHoRITE AL a7dt 1gjste] (37a)= W AT
= [e)

1 :
S 247 shte] £ st thdthe 344SR 150 EM% S A
N olde] HoloRdlths 21& aFdth sA7t A ] BF 59
O S 41 e AFeAE (37a)F ARCE sdd. O Jf& 74F (37b)7F AH&-ETh
AEESE o] 24 FEAACK s W HIGA deHAe J¥A gEths HollA
(37a)¢} (37b)= WA th=th

oY A& B (37a)7F W A0l A4 F ) old stae] thiokitta Q-
A et Aotk oAl TelA (37a) ‘Ao E oJulE 2R ofEths Holth oldt
oS HMEsp] Asixe 38)lAAMY Fstd vy EFEAE ARgsfolit

(38) All my friends attend several good schools.

S

A8 g2 24T

i

ol YA AHIEL BPs7t HITHE TRt GshA Eenal
o] EAA ofn £A42 7L At AS HoFEn
U ofE5 BPsot ddE AAA v 240 ot dx Tl e A8HA
Aete A(Zweig, 2009) oBA AHd|orsl=7

(39) a. If all my friends attend good schools, I will be happy.
b. #If all my friends attend at least one good school and more than
one school is attended overall, I will be happy.

B0 AYH 27 AAY U4

HojFEr

(39a)E (39b)9] oJm|Z zA] Greth o] AL 9
z7o] 3k gz B A4EA] Fete A
o (40) =Y FYS PEE BT

o riN

(40) Q: Do all your friends like cooking shows?
A: #No, they all like the same one: “The Frugal Gourmet'.
B: Yes, they all like the same one: “The Frugal Gourmet'.

o|H 3 AL o|ZES: BPse HAA tEA 21S o1 vhx Eulolu o2 R4
Ago] HA %= BPs] T 2A(HAR E M) 5YT 318 AR AET 9

Al gk
Zweig (2009)= T4 21

o

i 3de] 5 (conversational implicature) 0.2 #4]
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gtk (41a)ol A somes] ov|7t FHell E71E perhaps even all of themol 23l §loixHe=
tishdel o] Uehdt). (41b)olA = o|9f 22 biskde] o] Uehdth (d1b)dllA F
7 olde] BNV AR E oot T 220 perhaps even the same big city©ll ©]3)
Fardth o)A AAA gl 24 A v EHM A} 3184 2E(pragmatic
conditions)°] FZHH, 53] spay} Wit ol Ao ojme}k thEra st 1
HEs 7R ske oA HLHAE F U9

(41) a. [FBI investigator:] Some suspects live in big cities, perhaps even all
of them.
b. [FBI investigator:] All the suspects live in big cities, perhaps even
the same big city.

$% A4 D4L BRI TR 74 VIS 23 U4 YTk 22 B B ok
Ae) olulh Euol ek e £= ks Bo] Bk Telslel BPse] W3 1412 o
W) s BhRA Bao) B4

12
ne
PO
o
Iv)

5. A&

AF7H) 2% BPse] Mol BHEEH B el Bayol el =R oH BHE
o e BPsel sl tial BaAel 123 onl2d 29 A o5 g4l
BPs7H 4% B BHolA: wE slAS 2 kY v Belois 22 8w
FFYH A4S 2Tk Aojnk Tk old@ SJulH BHE Y3t FHoIA BPs
7H A ANE A 4 9o, B et 3% vz Beleld BPsh AF AN E ek
QA o} wa} oo ne IS A Deka S Gtk AHIS s 4

@ & Tk oA A B4 ol2Ee BPs7 WEE ojulel 24 ofn] % ofL ah
20 AAEE 490 49T & e B 184 ge 49, 53 2234 Aol (1A A
LS AT AT e ASE 49T 5 gt $UE S8EMoR AYs
315 v eold BPs7} 1A AR ohle 1 ANE b5 202 AR of
9J3) A ARSI ek B3t e BEEH 9S0] BPso] o] 3T 4T
ke AL Hole B 3AE ANS:

peed
(o

i

9) Sauerland et al. (2005)¢} Spector (2007) =& T4 ou|7t A4S disde] d5elgta 5
T4 o] &S ATk T2 Zweighs 2 oE8) s of| AFE sHA 4skth IE
2 BPY} 3Rt de ERelN B4l THT

A3 o
DRED

!
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9] 24 BPso] EBH N2 A Tslol B¢ A% A AN ol E
25 S §UTH NS AN A5 Y BEA B, 28T AFANE 2 7
5 MR B O SR Sl o 0 o1 A9} RS B ol

SAHY G BEES Z7M e 04 3881 Agdel 92 F 4 drka Eogrk

@9, BPs7} T2 49 BAES B 579 AN/ 2018 48 M3 doke 2
& Holt Il SN B dREL Fof saAEol of Al F3Y WASY Hxtel
V5 olu|ope A3 olalstel A YRl 0|52 AR AgFE o =
2 5 9 ARE B89 5 Aok oA o BES E 0 oust gokn ok

N R

Fned

Bale, A, Gagnon, M. & Khanjian, H. (2011). On the relationship between
morphological and semantic markedness: The case of plural morphology.
Morphology, 21. 197-221.

Carlson, G. (1977). Reference to kinds in English. Unpublished Doctoral
dissertation, University of Massachusetts, Amherst.

Chomsky, N. (1975). Questions of form and interpretation. In R. Austerlitz (Ed.),
The scope of American linguistics (pp. 159-196). Lisse: The Peter De Ridder
Press.

Cohen, A. (2005). More than bare existence: An implicature of existential bare
plurals. Journal of Semantics, 22, 389-400.

Farkas, D. F. (2006). The unmarked determiner. In S. Vogeleer & L. Tasmowski
de Rijk (Eds.), Non-definiteness and plurality (pp. 81 - 106). Amsterdam:
John Benjamins.

Farkas, D. F., & de Swart, H. (2010). The semantics and pragmatics of plurals.
Semantics and Pragmatics, 3(6), 1 - 54.

Grimm, S. (2013). Plurality is distinct from number neutrality. In Proceedings of
the North East Linguistic Society 41, 247 - 258.

Krifka, M. (1989). Nominal reference, temporal constitution and quantification in
event semantics. In R. Bartsch, ]. van Benthem, & P. van Emde Boas
(Eds.), Semantics and contextual expressions (pp. 75 - 115). Dordrecht: Foris
Publications.

de Mey, S. (1981). The dependant plural and the analysis of tense. In V. A.



130 | oMz

Burke & J. Pustejowsky (Eds.), Proceedings of NELS 11. (pp. 58-78).
Ambherst: GLSA, Univ. of Mass.

Partee, B. H. (2004). Weak NPs in have-sentences. In Compositionality in formal
semantics: Selected papers by Barbara H. Partee, (pp. 282 - 291). Oxford:
Blackwell.

Quirk, R., Greenbaum, S., Leech, G, & Svartvik, J. (1985). A comprehensive
grammar of the English language. London: Longman.

Sauerland, U. (2003). A new semantics for number. In R. B. Young & Y. Zhou
(Eds.), Proceedings of Semantics and Linguistic Theory (SALT) 13 (pp. 258 -
275). Cornell, Ithaca: CLC publications.

Sauerland, U., Anderssen, J., & Yatsushiro, K. (2005). The plural is semantically
unmarked. In S. Kepser & M. Reis (Eds.), Linguistic evidence: Empirical,
theoretical and computational perspectives (pp. 413 - 434). Berlin/New York:
Mouton de Gruyter.

Spector, B. (2007). Aspects of the pragmatics of plural morphology: On
higher-order implicatures. In U. Sauerland & P. Stateva (Eds.),
Presuppositions and implicatures in compositional semantics (pp. 243 - 281).
New York: Palgrave/MacMillan.

Zweig, E. (2009). Number-neutral bare plurals and the multiplicity implicature.
Linguistics and Philosophy, 32(4), 353 - 407.

0|2

545-704 HePds FUA FoFs FHHZ 94-13
et o] =0 A B3t

Zsk (061)760-1115

oM Y: eredcarrot@epost.kr

Received on July 10, 2014
Revised version received on August 27, 2014
Accepted on September 5, 2014



